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* —RREIR
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* (EFA#H : C-280x80x30x3.2 F{E : 345 N/mm2

* BTEERE



Ix : 16757500 mm4

Iy : 1132600 mm4

Zx © 119700 mm3

Zy 20880 mm3

iy : 29.8 mm

Aw : 594 mm2

ERETEM

[ E 7 & 300.0 N/m2

BfiE 3500.0 N/m2

fir 2 5y 181E © 1500.0 mm

REAFIFR =t AL © Span / 300

EHARF R AL Span / 180

BOBERELZERET S

WEETIL

Z/8> 10 5400 mm / HEEERELES ¢ 1 4FT

R8> 2 0 5400 mm / HREERELES ¢ 1 4R

EREtRIESRMY  R#E (DL)

Wx = 0 N/mm

Wy = .45 N/mm

B XEARZRR S

1: ON

2: 0N

3: 0N

BMYBERZRRA

1: 477N

2 : 1389 N

3: 1128 N

4 : 1389 N

5: 477N

HHEM 1 OKRE

XS = 0 mm XE = 2700 mm Lb = 2700 mm ( HEHBREORE )

Ml = 0 N+mm M2 = 0 Nxmm Mmax= 0 Nxmm

Cb=1.75-1.05% (M2 /M ) +03% (M2/M)"27L 23 LUT DN =M
=1.75 Mmax > M1 @35&(& Cb =1 A =1Lb /iy =091

fbx= (1.1 - 0.6 * F / (n"2 x E % Cb) * A172) * ft 75\'3 fhx=ft (A =85/ Cb DIHFH)

Mx/Zx/fbx = 0 1.0 OK M = 0 Nekmm fbx = 143 N/mm2

My/Zy/ft = .07<= 1.0 OK MY = 351482 Nsmm ft = 230 N/mm2

Mx/Zx/fbx + My/Zy/ft = .07= 1.0 OK LMmax = 2700 mm

XS = 2700 mm XE = 5400 mm Lb = 2700 mm ( BHAIEMORE )

Ml = 0 Nmm M2 = 0 N+mm Mmax- 0 Nxm

Cb=1.75-1.05% (M2 /M) +03*(M2/M1 2T—1’—L23L,l‘F Mo M = M2
=1. 75 Mmax > M1 DiF&IE Ch=1 A =1Lb 91
= (1.1 -0.6*%F / (x"2 % Ex*xCh) x A 2) * ft iJ\O fhx=ft (A =85/ Cb MIFHA)

Mx/Zx/fbx = 0< 1.0 OK M = 0 Nmm fbx = 143 N/mm2
y/Zy/ = .07=1.0 0K M= 351482 Nxmm ft = 230 N/mm2

Mx/Zx/fbx + My/Z /ft = .07= 1.0 OK LMmax = 2700 mm

Q1/Aw/fs = 0 =£1.0 OK 01 = 0N fs = 132 N/mm2 fs =ft/ 43

02/Aw/fs = 0 =£1.0 0K 02 = 0N fs = 132 N/mm2

Sx = Sy = .67 mm

Y 8max = ¥ (6x” 2+6y 2) = .67mm Lémax = 1188 mm X & max/Span = 1/ 8116= 1/ 300 OK

/ RRMI®E OK

HHEME 2 ORE

XS = 5400 mm XE = 8100 mm Lb = 2700 mm ( BHBIXEORE )

Ml = 0 Ntmm M2 = 0 Nskmm Mmax= 0 N+m

Cb=1.75-1.05% (M2 /M )+ 0.3 (M /M) 2T—T—L,23L,l'F7’J\'DM1 M2
:1.75 Mmax > M1 OBAE Cb=1 A =Lb/iy=9

fbx= (1.1 - 0.6 * F / ("2 * E * Ch) * /1 2) * ft /D fbx<ft (A =85%/ Cbh DIFH)

Mx/Zx/fbx = 0= 1.0 OK MX = 0 N+mm fbx = 143 N/mm2

My/Zy/ft = .07= 1.0 OK MY = 351482 Nxmm ft = 230 N/mm2

Mx/Zx/fbx + My/Zy/ft = .07= 1.0 OK LMmax = 8100 mm

XS = 8100 mm XE = 10800 mm Lb = 2700 mm ( HEHBIXEORE )

M1 = 0 Nkmm M2 = 0 Nskmm 0 N+#m

Ch=1.75-1.05 (M2 /M ) +0.3=x (M2/M1)2T_7‘_L,23u'F Mo M = M2
=1.75 Mnax > M1 @F&E Cb =1 A =Lb /iy =91

fbx= (1.1 - 0.6 * F / (n"2 x E * Ch) * A 2) * ft MDD fhx=ft (A =85/ Cb DIFA)

Mx/Zx/fbx = 0= 1.0 OK M= 0 Nekmm fbx = 143 N/mm2

My/Zy/ft = .07= 1.0 OK MY = 351482 Nxmm ft = 230 N/mm2

Mx/Zx/fbx + My/Zy/ft = .07= 1.0 OK LMmax = 8100 mm

Q1/Aw/fs = 0 =£1.0 OK Q1 = 0N fs = 132 N/mm2 fs = ft / {3

Q2/Aw/fs = 0 =1.0 0K 02 = 0N fs = 132 N/mm2



S X Omm &y
T omax = 4 (86X 2+8Yy"2)

/ RRERE OK

.67 mm
.67 mm LS&max = 9612 mm

Y &max/Span = 1/ 81156= 1/ 300 OK

/ Ef&E OK

* ERETTESMY  EHWE (DL +W)
Wx = 5.25 N/mm
Wy = .45 N/mm
* M XEAMIRRN
1: 10631 N
2 : 35438 N
3 : 10631 N
* M YBARMIRRA
1: 477N
2 : 1389 N
3: 1128 N
4 : 1389 N
5: 477N
* IHEME 1 OBRE
XS = 0 mm XE = 2700 mm Lb = 2700 mm ( H#E#HBIXEDORE )
= 0 Nmm M2 = 9568125 Nkmm Mmax= 10764141 Nsmm
Cb-175—105* (M2 /M) +0.3% (M2/M )2 L 2.3 LUF ™D M = M
1 Mmax > M DIFEE Cb =1 A =Lb/ iy =91
fbx—1/3*7t2*E/ A"2%Cb (A > 85/ Ch DIFE )
Mx/Zx/fbx = .73 1.0 OK MX = 10706253 N+mm fbx = 123 N/mm2
Zy/ft = .01= 1.0 OK_ MY = 103412 Nsmm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = .74= 1.0 OK LMmax = 1876.5 mm
XS = 2700 mm XE = 5400 mm Lb = 2700 mm ( HEAHBIXFEADIRE )
M1 = 9568125 Nkmm M2 = -19136250 Nxmm Mma x— 9568125 Nxmm
Cb:1 75 - 1.05 % (M2 / M) + 0.3 % (M2/M1 27‘_7‘_L,23l«,L'F/J\OM1 M2
=23 Mmax > M1 D&% Chb = 1 =Lb / iy =91
fbx= (1.1 - 0.6 *x F / (x"2 x E *x Ch) * ) * ft 75\0 fhx=ft (/1<85*J'Cb NIHE)
Mx/Zx/fbx = .63= 1.0 OK MX = 19136250 Nekmm fbx = 254 N/mm
My/Zy/ft = 03 1.0 OK MY = 234321 N+mm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = .66= 1.0 OK LMmax = 5400 mm
Q1/Aw/fs = .09 = 1.0 OK Q1 = 10631 N fs = 199 N/mm2 fs=Fft/ 43
Q2/Aw/fs = .15 = 1.0 OK Q2= 177119 N fs = 199 N/mm2
SX = 7.04mm Sy = .2 mm
Yomax =  (8x°2+8y"2) = 7.04mm Loémax = 2268 mm X Smax/Span = 1/ 766= 1/ 180 OK
/ RME#®E OK
* MR 2 OKRE
XS = 5400 mm XE = 8100 mm Lb = 2700 nm ( HEHBIXEOEE )
M1 = -19136250 Nskmm M2 = 9568125 Nxmm Mmax= 9568125 Nskmm
Ch=1.75-1.05 % ( M2 / M1 ) +03* (M2/M1 27‘:7‘5L, 2.3 T ™D M = M2
=2.3 Mmax > M o0& Cb = /1 =Llb /iy =
fbx= (1.1 - *F/ ("2 *E * Ch) * A72) * ft 75\'3 fbx<ft (A =85%/ Cb DIFAH)
Mx/Zx/fbx = 63§ 1.0 OK MX = 19136250 Nkmm fbx = 254 N/mm2
My/Zy/ft = .03= 1.0 OK MY = 234321 Nxmm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = .66= 1.0 OK LMmax = 5400 mm
XS = 8100 mm XE = 10800 mm Lb = 2700 mm ( HEMHBIZEORE )
M1 = 9568125 Nkmm M2 = Mmax— 10764141 Nmm
Cb=1.75-1.05% ( M2 / M )+03* (M2/M1 "2 2L 2.3 LT A2 M =2 M2
= 1 Mmax > M1 DIFEIE C A =1Lb/iy=091
fbx=1/3 %« "2« E/ A2 * Cb ( A > 85x/ Ch MIFE
Mx/Zx/fbx = 735 1.0 OK MK = 10706253 Nsmm fbx = 123 N/mm2
My/Zy/ft 01 1.0 OK_ MY = 103412 Nokmm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = .74= 1.0 OK LMmax = 8923.5 mm
Q1/Aw/fs = .15 = 1.0 OK Q1 = 17719 N fs = 199 N/mm2 fs =ft/ 43
02/Aw/fs = .09 = 1.0 OK 02 = 10631 N fs = 199 N/mm2
dx = 7.04 nim_ Sy = .2 mm
Y Omax = ¥ (6x™2+8y"2) = 7.04mm LSmax = 8532 mm X Smax/Span = 1/ 766= 1/ 180 OK

*x [/ BEHE OK



